S5H
RoHS#E

B R
HHENT-HZ< TAHWE

7V¥ A —TT,

=@y A— LA

it & & <M12 M14>1, 500 kef

<M16>2, 000kgf

<M20>4, 000 kgf

'l'\)b b-F v b SS4004E L
m SS4008:&

_manx—b

# B
FEE

| k&3 e

OFMIFEHER T, BIZEOTHBEEZ LE-E2RTRE
Df=8., BEFEYEELZYMMMABRILER A,
D-C-SIZZMOEXEMEEBTHEIMILTHWEITDOTERK
BAHYET,

Q@ZMIIBERTI DT, MAHEKIONULETTA, R
MNEIZERELTLEVETDOT, RORICKBMHTEIZH
UEd,

X LE#IIEERL. EPEEFET,

&0 &
SMI0X— 2SR

o)

cWTWBIREN L

FA—IVRATU LA

fit 71 & <M12>1,500kef

<M16>2, 000 kgf

<M20>4, 000 kgf

‘|'\)l/ b-F vk SUS3044H
m SUS3048iE

/\y/\— ~

# B
REALE

miE &

RIL FDEREBEZIMONRICEBSEZMERNSEEH
L/i-d-o
EEYPETLATHLOTOWETOTHRIL FARITESL S
ZENHYFEEA,

R &

BEERSATLELT, hEEE. EEWHI ORAY—%IC
WLTWET,

BHESHHAIEEE A — LT YL 26

) b

\ 2/ D-C12X 50 - D-C12x 50SUS | Mi2x1.75 | 50 | 75 | 8 [ 17 [ 60 [ 19 [310 [ 1,500
D-C12X 75 - D-C12x 75SUS | M12x1.75 | 75 [ 100 | 8 [ 17 | 60 | 19 | 330 | 1,500

! D-C12X 100 - D-C12x1005US | M12x1.75 | 100 [ 125 | 8 [ 17 | 60 | 19 | 340 | 1,500
D-C12X 120 - D-C12x120SUS | M12x1.75 |120 | 145 | 8 [ 17 | 60 | 19 | 355 | 1,500

D D-C12X 125 - D-C12x1255US | M12x1.75 |125 [ 150 | 8 [ 17 | 60 | 19 | 360 | 1,500
] D-C12X 150 = D-C12x150SUS | M12x1.75 | 150 [ 175 | 8 [ 17 | 60 | 19 | 375 | 1,500
3 D-C14X 130 - = M14x2.0 [130 [156 | 9 | 17 [ 60 | 22 [ 410 | 1,500

I D-C16X 65 - = MI6X2.0 | 65 | 92 | 10 | 17 [ 60 | 24 [ 395 | 2,000
Ll D-C16X 75 - D-C16X 755US | M16x2.0 | 75 | 102 | 10 | 17 | 60 | 24 | 410 | 2,000
i D-C16X100 | D-C16X100-HS [D-C16X100SUS | M16x2.0 [ 100 | 127 | 10 [ 17 | 60 | 24 | 440 | 2,000

i D-C16x 130 D-C16X130-HS |D-C16X130SUS M16X2.0 130 157 10 17 60 24 | 480 | 2,000

! L1 D-C16x150 | D-C16X150-HS [D-C16x150SUS | M16x2.0 [ 150 | 177 | 10 [ 17 | 60 | 24 | 505 | 2,000

| L2 D-C16x180 | D-C16X180-HS [D-C16x180SUS | M16x2.0 | 180 [207 | 10 [ 17 | 60 | 24 | 540 | 2,000

i D-C16X200 | D-C16X200-HS [D-C16X200SUS | M16x2.0 [200 [227 | 10 [ 17 | 60 | 24 | 570 | 2,000

I D-C20% 100 D-C20<100-HS |D-C20X100SUS M20X2.5 100 130 13 17 60 30 | 580 | 4,000
_!_ D-C20% 130 D-C20<130-HS |D-C20X130SUS M20X2.5 130 160 13 17 60 30 | 640 | 4,000
13 H D-C20x 150 | D-C20X150-HS [D-C20<150SUS | M20x2.5 | 150 | 180 | 13 [ 17 | 60 | 30 | 680 | 4,000
D-C20x 180 | D-C20x180-HS |D-C20x180SUS | M20x2.5 | 180 [210 | 13 [ 17 | 60 | 30 | 740 | 4,000

L I D-C20%x200 D-C20<200-HS |D-C20Xx200SUS M20X2.5 200 230 13 17 60 30 | 785 | 4,000
A FiEdA4 XRYES,

ADJUSTER BOLT






